Question 9

2010 HSCyMathematics
Start here for

Band 4/5

- Question Number: 9

cx)_) £2500 206 az2t

_.\-500# S
Aa: 500 4108 A 10s?

A - 203128 a1p8" ir-p5

; -ut:;h(lvm%a« ﬂ P _@ _50_69_
‘o - |

P. 277 (145549 S
41%’2 1“18 < 58,

= 28275 55
h)g& L%’ZWS 85 % 1665 m }J\
Ar<l232175-55 «1-005 ~Mx1-005 - W

AP = 1005 -W) of 005 -\ ) x 1-005 -
. Pa1-00S” —gh1-005 - W\

D
An, uoos M- ODS W 02‘3 e hees - M
4l
- Px([+ 1008 < 1-005"

Nt
raad_, 2. G ]

r.:v‘n

4 -~ |-

- . \-00$ -
p -
L >

= - M

— "‘L‘fciﬁ_Lfﬁtﬂifzr.:D_E?:j_o__ | : -
“ C\{ (P’ ﬂ 2 =
- - |

2. =08 A=

\mdal

M< 2000

Sample 3




Question 9 2010 HSC Mathematics Band 4/5

Sample 3__
P - (72420 000) s 1.005 « Yo 000

?)A 400 aoa)x\ 005 vH00 2
- oooﬂvm 005 1400 000 = O

Poin000 000
\W=Toos % WkOo0ooo = n

b) 3%6&\0&»@ Pel? sl ™ 2l £1l3 \ﬁq_;f_,{;-ﬁkvz)
) € LAGARNA 2 ‘@{'\\'\J‘t O?{ —Q("ﬂ e —\,\-—.,'?___

u\)%ﬁ_____ _
Nj B i W

Additional writing space on back page.

Office Use Only - Do NOT write ansvthing. or make any marks below this line.




